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In the class A, in NegValException exception,
we passed a String for initialization and when it was the abnormal case,

the part from the catch method got printed into the console, specifically,
what is the point of having an argument passed over the exception?
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class B {
mb (int i) throws NegValException {
A oa = new A();
oa.ma (1) ;
b}
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class Tester {
public static void main(String[] args) throws NegValException {
Scanner input = new Scanner (System.1in);

int i = input.nextInt();
B ob = new B();
ob.mb(1);

b}




For version 2, since we are catching the exception in Tester.main,
why did we had class B, couldn't we specify the exception directly from class A to

Tester.main without having CIOSSE; I/l WAL 'tl’e_ 5723 fp m[/ 5

In a general case, if an exception is thrown at the top of our method stacks,
shouldn't the exception be specified to the caller coming after it?

Why should we just have another caller after the place where the exception was
originated, throw it to its caller (2nd method call in the stack from the top) and
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Method A.ma causes an error and an
NegValException object is thrown

throwts_ an [ ‘I > method call
exception

= Method B.mb chooses not to handle the
error and propagates it
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if (i < 0) { throw new NegValException("Error."

else { /+ Do something. */ }
b}

class B { forwards/

mb (int i) throws NegValException { L{ propagates to its caller (i.e., Tester.main).
-— an exception
; method call

A oa = new A();

Method Tester.main method
chooses to handle this error, so that
this NegValException is not

propagated further.
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public static void main(String[] args) {
Scanner input = new Scanner(System.1in);
int i = input.nextInt(); @

B ob = new B();

try { ob.mb(i); }
i { /#* Do something. */ (E‘/ f

catch (NegValException nve)
b}




public class InvalidTransactionException extends Exception {
public InvalidTransactionException(String s) {
super (s) ;

}
}

class Account {

int id; double balance;

Account () { /+ :‘Lw,"‘(:‘::“J:'I:_‘:.g to 0 %/}

void withdraw(doubl throws InvalidTransactionException {
if (a < 0 || balanO¥- a < 0) {

throw new InvalidTransactionException("Invalid withdraw.");

}

else { balance -= a; }
}
}

class Bank {
Account accounts; int numberOfAccounts;
Account (int id) { ... }

In a general case, if an exception is thrown at
the top of our method stacks, shouldn't the
exception be specified to the caller coming

after it? L; n-g(‘ E“'_‘_ .

Why should we just have another cal\gr after
the place where the exception was originated,
throw it to its caller (2nd method call in the
stack from the top) and then throw it again to
its caller (3rd method call in the stack from the
top)?

void withdraw(int id, double a)
throws InvalidTransactionException {
for(int i = 0; 1 < numberOfAccounts; 1 ++)

i i].id == N {
accounts[i]). withdra

s

}
} /#

(String[] args) {

Bank b = new Bank/()
Account accl = new|Account (23);
b.addAccount (accl)f
Scapper input = Scapper(System.in);
double a = input.nextDouble();

tr -
ystem.dut.println(accl.balance); }

catch (InvalidTransactionException e) |
® System.out.println(e); } } } y
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Should we do exception handling as we develop our program,
or we should finish the program and then do it?
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As shown in this video, what if we call two or more methods inside a try
block and all of their callees throw exceptions?

How can we notice that all of them threw an error; because once one of
them caught an exception the rest of the try block would be bypassed?
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catch (NegativeRadiusException e) {
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| catch (InvalidTransactionException e) {
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b.addAccount (new A unt (34) ) ; .
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Why do we only have 1 try block?

Can we do 2 try blocks then if the second is invalid,
the user only has to re-enter the second rather than restarting

doublerr s .
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Consider the following class:

public class Point {

private double x;

private double y;

public Point(double x, double y) {
this.x = ix;
this.y = y;

}

publicyoj oveUp(double units) {
this.y = this.y + units;

o s
publ' etDistanceFromOrigin() {
retu M .sqrt(Math.pow(this.x, 2) + Math.pow(this.y, 2));
}
}

Now say we have the following variable declared and initialized:

Vi
Point p = new Point(3.4, 5.7); l/ /

From the following independent lines of code, chose those whii.e., without any syntax or type error).

O a. sttem.out.grintlnMmoveUp(ZA.B)); ‘,
b/ p.moveUp(24.8); \/ no VefMVA VA\ '-40

Oc. _imdisgl\rg‘.?etDistanceFromOrigin();)(
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D@/System out.printin(p.getDistanceFromOriain(); \{lg AA{, u{?é;

\/géetDstanceFromOrlgl \/
O h/double dist = p. getDlstance romOrigin();
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